POWER
WHEELS

Note!

* We've included extra fasteners that you
will not use for assembly of this vehicle.

* This vehicle requires:
16 - #10 x 3/4" Screws
6 - #8 x 1" Screws
2 - #8 x 4" Screws
2 - #8 x 1.625" Screws
2 - #8 Acorn Lock Nuts
2 - .354 Cap Nuts

After assembly is complete, please throw
away all extra fasteners.

Fisher-Price, Inc., a subsidiary of Mattel, Inc., East Aurora, New York 14052 U.S.A.
©2007 Mattel, Inc. All Rights Reserved. ® and ™ designate U.S. trademarks of Mattel, Inc.

PRINTED IN MEXICO H4433pr-0922



